/
(@ PLACE ONE
SLAT ON BACK

71/2" [190]

12'-0" [3660] (PANEL LENGTH) 12'-0" [3660] (PANEL LENGTH)

N
1" [25] GAP MAX. (SLAT OVERLAP ACCEPTABLE)

PREVAILING

| 4!_0”

2'-0" [610]I 4'-0" [1220]
I

[1220] 20" [610] [2-0" [610] 4'-0" [1220]
| |

E——

Il

E2\

(© SLAT FASTENERS TYP.

[

i
i
Tr—
|

— /
/ I
Y

Y — EFEF———\
() CROSS BRACE FASTENERS I I Il

SIDE OF FRAME CLINCH NAILS, TYP. — ~—— S =
AT SAME HEIGHT i il
AS SLAT #4 ON — S| | E—
FRONT SIDE — N\
OF FRAME Il il

%

I i
: R e |
11" [279] TYP. 4" [100] —= il I
11 PLACES N———r—
(2) 6" [150] DIA. MIN. I
23" [584] WOOD POSTS UL 2\
I
") 7 >
S I
R : = = ; -—
\\”\' \‘\/\: T NV T =~ T \\\H,,/I\\ — z?
3 RO NIET M T CVIEE I Y "
=" \\ s ! <~ T SIS T~ <~ S <" <" T~ ] T A T T~ A A
® ﬁix[fzfo][éﬁgE"DﬁEﬁ)F{TEﬁAR AN d S = \QIY\/\:L\j‘/@/‘/\;\;‘//\\’ A=A == SRS NZ NS S
AN > - SR CROSS BRACE SLAT TYP.
U g" =) CROSS BRACE
< [205] S|
o o
n |
~11/16" [17] DIA. HOLE TYP. Yoo PLACE WO LI POSTS
< 1
RUN OF SNOW FENCE. FRONT VIEW
- | 2-10"[865] | 4-2" [1270] UN OF SNO | |
[180] ' 80" [2440]
@ SILL
LUMBER FOR ONE 12 FT [3.6 m] PANEL
10 1/2" [265] ITEM | NO. OF LUMBER SIZE DESCRIPTION
@ 3 |2"x6"x8-0"[50 x 150 x 2440] |SILL
HARDWARE FOR ONE 12 FT [3.6 m] PANEL
@ 3 |2"x8"x 110" [50 x 205 x 3350] | LONG BRACE
NOTE | QUANTITY | DESCRIPTION
HOLE MAY BE DRILLED ©) 3 |2"x6"x6-0"[50 x 150 x 1830] |SHORT BRACE
FOLLOWING FRAME ® 6 5/8" DIA. x 6" [16 DIA. x 150] FULLY THREADED BOLT WITH WASHER UNDER NYLON INSERT LOCKNUT
ASSEMBLY TO ENSURE @ 3 |2"x6"x12'-0" [50 x 150 x 3660] | FRONT VERTICAL
FULL BEARING ON THE SILL. 15 5/8" DIA. x 6" [16 DIA. x 150] FULLY THREADED BOLT WITH WASHER UNDER HEAD AND UNDER NYLON INSERT LOCKNUT
® 3 |2"x6"x4-6"[50 x 150 x 1370] |KNEE BRACE
© 78 SLAT FASTENERS - 10D [75 LONG] RING SHANK OR SCREW SHANK NAILS (FULL HEAD)
® 44 CROSS BRACE FASTENERS - 8D [65 LONG] COMMON NAILS NOTE: PRESSURE TREAT ALL ABOVE FRAME MEMBERS.
é ) ® 6 #6x 50" [#19 x 1525] REBAR ® 2 [1"x6"x 120" [25 x 150 x 3660]| CROSS BRACE
® 6 5" x 11/2" x 1/8" [127 x 38 x 3] ANCHOR CLIP FOR 5/8" [16] @ BOLT @ 13 | 1"x 6" x 12'-0" [25 x 150 x 3660] | SLAT
PROVIDE BOLTS, NYLON INSERT LOCKNUTS AND WASHERS WHICH ARE GALVANIZED AND A307 OR SAE GRADE 2 OF BETTER.
Y Designed by: WBW STANDARD PLAN NUMBER
[ ooy 0| WYOMING DEPARTMENT -
e PANEL CONSTRUCTION DETAILS N oF 12 FT [3.6 m] WOOD SNOW FENCE - EGE:GI 20? :
L  \Note: Units shown in brackets [ ] are metric and are in millmeters (mm) unless other units are shownl o TRANSPORTATION STANDARD PLAN Koo seonnas




( )
/ LONG BRACE
NOTE:
PLACE THE REAR ANCHOR ON THE OPPOSITE
SIDE OF THE SILL AS THE FRONT ANCHOR. Ebv -—-
_/ \\\. |\\'
A
B A x
#6 x 50" [#19 x 1525] REBAR ® #6 x 5-0" [#19 x 1525] REBAR B-B REAR ANCHOR VIEW y"—;\‘
(4'-0" [1220] EMBEDMENT) (4'-0" [1220] EMBEDMENT) g 3
FRONT VERTICAL STz WS
LONG BRACE FRONT VERTICAL N\ VNI
' @7 ANCHOR CLIP
- I I BOLT HEAD AGAINST ANCHOR
> \ K CLIP. TIGHTEN BOLT SO ANCHOR
e — NYLON INSERT N CLIP DEFORMS SECURELY AROUND
N : LOCKNUT | REBAR SO THAT REBAR CANNOT
=== -— - €34~ —  SLIP IN HIGH WINDS.
SIS NS A R R T IR S 5
R SR o AN IS AN SN WASHER N— NO WASHER AGAINST R P v s
® ANCHOR CLIP \i ‘. \/45 45\/; e ="/ CHOR G Supar 8
FRAME CONNECTION S sl . PLACE BOLT HEAD ON ISR EES
ANCHOR CLIP SIDE. \\\’| I| =7 \\{j'” =
B A NN THE WRONG WAY
b
SIDE VIEW A-A FRONT ANCHOR VIEW
|PANEL LAPPING DETAIL|
NOTE: OVERLAP PANELS TO ELIMINATE SPACES BETWEEN PANELS. SPACES GREATLY
(F) ANCHOR CLIP CONNECTION DETAIL REDUCE TRAPPING EFFICIENCY AND SNOW STORAGE CAPACITY.
5" [127]
1” I 3II [76] I 1Il
251 | . | [2s]
11/16" [17] DIA. 7/16" [11]R _ LENGTH AS SPECIFIED
' ' xlor & NYLON INSERT LOCKNUT\‘ ‘
(N @ o= N
Tl & "
- o1 NE O
1/8" [3] STEEL PLATE a
ANCHOR CLIP FOR
® 5/8" [16] DIA. BOLT (F) END VIEW OF (R)&(B) FULLY THREADED
ANCHOR CLIP BOLTS
(FLAT PLATE PRIOR TO BENDING)
PROVIDE HOLES NO GREATER THAN (AFTER BENDING)
1/16 in. [1.5] LARGER THAN THE BOLT
f Oesigned oy WBW STANDARD PLAN NUMBER
rawn by: GLD
T FRAME CONNECTION AND PANEL OVERLAP DETAILS YOMING I())];PARTMENT 12 FT [3.6 m] WOOD SNOW FENCE - EGE: 622? :
61628 >4 0
B . B H : : HIR ; "4: ¢ TRANSPORTATION ssued by:
L Note: Units shown in brackets [ ] are metric and are in millimeters (mm) unless other units are shown. L STANDARD PLAN K sttt




